
6/12/20 Problem Chap 18 # Ill k

what is the pH of 0,150M KCN?
-
-
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K-CNcaqgtltzoce.SE/L0Hcaq,tltcNspectatTDconjugate a
Cw- is the conjugate of a
weak acid .

Ka Cycas = f. 2×10 - to

Need : KB of car -
CN
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Kb=cHc#
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on
! the problem is solved

,

CH-Ihastsbecovertedihtsf.HN
can the conjugate of a weak acid

also be weak?

Kb Ccw 'S I 110410
- 14/6.2 y lo - 10

K¥ = 1.6140
- 5

Ka and Kb ⇐ I -5 both weak
The stronger a crony agate acid is, the

weakens the conjugate base is ,



What is the pH of 0.40M LL

tri ethyl ammonium chloride?
( CHS Cltz )
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ethyl = 2 carbons
This is the product of a base neutralized
with HCl
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Bromated-Lowry base The conjugate
is a Cweak) acid

g- is ignored because it is the conjugateof an extremely strong acid , so Cl -
is a very weak base ( non - reactive)

^j = Jin t *④
HAT A Ht
[ Ht] EAT

✓
conjugate ka

of

THAT triethylamine



Exam #3 e

- Definitions of acids + bases

( Arrhenius t B roasted- Lowry )
- strong and weak acids or bases
- the four types of problems

1) pH@OH) of an acid
2) pltlpOH of a base
3) pltlpolt of conjugate of acid
4) pltlpolt of conjugate of base
- Kw

, Ka , Ks ( Kw= Ka ' Kb)
- pkw

,
pH , put pKw=pHtp OH

If you know the pH of an acid and
the concentration of the acid

,
the Ka

can be calculated
using an ICE table

( pH →Itt] →x)
If only pH is known, not the acid

concentration
,
the strength of the acid

cannot be determined
.

for example
,

a solution of pH 5 could be a relatively
concentrated solution of acetic acid or

a very dilute s ol
'
n of HCl

,



- neutral vs neutralize 44
- -

[Ht ] -- Colt 's Nau'd = N base
hot

hot
acid-base

att 's=Eat]
If the strength of an acid and base

are not the same
,
even if they react in

equal number of moles
,
they will not

dissociate to produce the same amount
of Ht andat

-

,
so the sslln may be

neutralized but not neutral
-

I
- .

Cat , coat t want → city Cooma
weak strong basic

Ita t Nitz → WHY C)

strong weak acidic
-

Thermodynamics
what is GG? OGLO 8670

- spontaneous or not

- OG- OH - TOS
what is 057,0520 0570

Formation of an aqueous goth of

ammonium nitrate .


